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o &I& :23,600&X708&X8& = 133,670
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_ _ &b oH & 0 A oK s & = =
2.5 . NE .2 U ) ®) (A-B At = J| =
O &X= (1)
o 1,000& = 1
1,200,363 1,284,241
321
ANE2g2 957,362 1,188,240
321-1
FERS=e= 957,362 1,188,240
O A& SA (616,362)
o0 13mm : 145,000& X704 & 102,080
0 20mm : 392,000& X85& 33,320
0 25mm : 697,000& X50& 34,850
0 32mm : 1,263,000&X30& 37,890
0 40mm : 2,133,000& X25& 53,325
o0 50mm : 3,395,000& X20& 67,900
o0 75mm : 7,036,000& X20& 140,720
o 100mm : 12,012,000&X10& 120,120
o 150mm : 26,157,000& X1 & 26,157
O HES A (341,000)
o 75mmol &t : 26,000,000&AX7& 182,000
o 75mm0| 2t : 3,000,000&X53& 159,000
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EFSIHALEERZ 243,000 96,000
322-1
=UExs 200,000 0




2 &:(320) A=Y S 4+ MHE:(322) EtSIHHEETZ F:(001) =12X2 (o= 3)
Aot | HAS O AR = 2 = .
- NY- = i ®) (A-B ¢« '8 =
O NEH=HeAESAM =2DEXS (200,000)
0 200,000,000& = 200,000
322-3
A-SHEZXEZ 43,000 96,000 253,000
O NEH=H2AE SHIEZZ (43,000),
0 43,000,000& = 43,000
323
zARE2 1 1 0
3231
EtISIHSAIRE S 1 1 0
O &X1= (1)
o 1,000& = 1
1 1 0
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JEHRER 2 1 1 0
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JIEFRF= = 20 1 1 0
O =Xus (1)
o 1,000& = 1
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(77,500,000)
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512
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